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B FEHERT =X 29, 396, 059
S SEE = 29, 396, 059
P s R L (B f) =X 6,412,900 |HBmIEIFAL (B 500 km
0. 1m3/kmA ;
PR RAZ (B 400 km
0. 1m3/kmPL 0. 2m3/km=R:7 ;
B A A3 (R H]) 50 km
0. 2m3/kmPL 0. 4m3/km=AR7 ;
Himigi  BEh (R 1,000 km
P iE R L () =X 4,534,700 |BEEIERRAL (KR) 450 km
0. 1m3/kmA ;
TS TRA2 (2 18) 100 km
0. 1m3/kmPL 0. 2m3/km=AR:7 ;
PRI RAS (K [HD) 10 km
0. 2m3/kmPL 0. 4m3/km=AR7 ;
Himisi BEh k) 300 km
MR T (R = 824, 422 | bR BR) 13.1 km
MaviEE Blh GBI 250 km
NAME R L () =X 359, 769 | bvaviEt () 4.3 km
Mt BB (k) 70 km
(=R RN =N ) X 2,162, 450 | ‘EIERRAL (B 800 m
200= ¢ <400 HEFEHRGB0% ;
B IRTERRA2 (BRI 700 m
200= ¢ <400 HEFEFR=50% ;
B USIERAS (B ) 10 m
400= ¢ <800 HEFEHR5B0% ;
BTG RA4 (B 10 m
400= ¢ <800 HEFEFR=50% ;
B USIERAL (BLRE) 10 m
800= ¢ <1000 HEFEZR50% ;
B UIEIRAG (BE) 10 m
800= ¢ =1000 HEFER=50% ;
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BIER BE) (R 600 km
ISR L () =X 1 3,095,610 |&EERAL (KR 800 m
200= ¢ <400 HEFEHRGB0% ;
IR RA2 (KD 700 m
200= ¢ <400 HEFEFR=50% ;
EIETERAS (R E) 10 m
400= ¢ <800 HEFEHR5B0% ;
EIETERAL (8] 10 m
400= ¢ <800 HEFEFR=50% ;
EIETESRAL (FE]) 10 m
800= ¢ <1000 HEFEZR50% ;
EIETERAG (FE]) 10 m
800= ¢ =1000 HEFEZR=50% ;
FIRER BEh G 600 km
NEE R 1T (R) = 1 455,918 | JUTETERRAL (BRI 100 m
S<0. 125 HEFEERB0% ;
TAREIE A2 (R H) 100 m
S<0. 125 HERFER=50% ;
I HAS (L) 10 m
0. 125<5<0. 5 HEFE=R50% ;
TAREE A4 (JRH) 20 m
0. 125=5<0. 5 HEFE=R=50% ;
RS BEh (8R) 160 km
MR L (D =X 1 2,504, 090 |AIFEIERRAL (FFED) 280 m
S<0. 125 HEFEERB0% ;
MEEHRA2 () 500 m
S<0. 125 HERFER=50% ;
MTEEHA3 () 300 m
0. 125<5<0. 5 HEFE=R50% ;
TS A4 (D) 50 m
0. 125=5<0. 5 HEFE=R=50% ;
MEEE B KD 180 km
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SRR MR L (R X 1 57, 170 | HE/KPHEIFAL (R 10 1l
Ve LHEREE 25emaAy
ERPHERA2 (B 10 1l
e HHEFEIE 25emll E
$E£ARPHER  BEh (BH) 10 km
SRR MR L (D) X 1 170, 330 | HE/KBHERAL (R M) 30 1l
Ve LHERER 25emaAy
HERPHERA2 (RH) 20 1l
e HHEFEIE 25emll E
$EARPHER B (M) 10 km
iR T EIRES X 1 690, 785 | & HTEHREL (B8 (B 450 km
WOKE  [A]% (&) 1, 700 km
b AWERRE  [E0E (B 900 km
BB [005% (R 400 km
RS [B (B 400 km
1M & 1 2,694,515 | —fik FAHEEE S RLH) 5 A
— % AR EEA (AT 10 A
ReEREZEE (BfM) 5 A
ReEREZE B (M) 5 A
E e S (R 10 A
EfEEE (KD 10 A
TEER T (—%) (R 5 A
T (—%) (WMD) 5 A
B (B ) 5 A
B () 5 A
KimER e HS (BM) 5 B ]
7 v XNy 2, 5m3fk
HIHERE  FRA (R 5 B ]
779y« g N HE2. 5~3. Im3fk ;
HBOKE &5 (BH) 100 IRFfH
6, 500L ;
WBOKE FRA (RIE) 5 B ]
5, 500~6, 500L ;
B 7 My)  EEA GRHD 5 iS3E
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AR Ave-h e T VEL
S22 i = A O=)) 5 iSHE|
27 5y BENERE ;
HoKEERE B85 (B 30 FF ]
Vayb AV ERD. 8m3 ;
PEAKEIERE FRA (B 5 FF ]
Vizy bl AR 5. 3~5. 8m3 ;
(PG SR e = SR O )] 30 IRFfH
n=#)7 07 kon K4 5m3
RS FRA (BH) 20 B ]
n=f)77 072 Hyn 4. 5~5. 0m3 ;
PEGRE FRA (R 10 I ]
LEDFE R 4 X 25 B EE E AT
IR FRA () 10 FREfE
LEDZR M A X 27 BB E AT
BB FE R} =X 954,900 |2° YR U b LwbALSy 10 m3
1By 200 m3
et = 4,478,500 | 33 EAE( B A VBLR) 30 AH
AR IE S 5B (B ) 60 N
AIE G B A () 30 N
RIS 5B (M) 110 AH
RN X = 29, 396, 059
HiE =X 4, 468, 000
m R (FE L) =X 4, 468, 000
Wi = 33, 864, 059
B E =X 19, 380, 000
TR = 53, 244, 059
-4 - E2RRiEg s i S




R PERE
TH4 | R 7 EEEESGITENEREREE
THEXSy - THE - FE5 H7 & & # i Gl N
— e PR A E20 1 9,845,941
Tk 2V 1 63, 090, 000
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